10ET' |

. %00
| 000 i 00'gs6
%S5'LT
. - 00'#¥9'8ZE
00'5/6'261}
rHS | @ 0L'81Z'} 7
3Nd 1z 69'50¥ e
Spen 0z £€'6 =
| usug | 6l 80'82¢ | -
TAA | 8L Z0'bL =
sbu| ED 2e'652 o0'00t z o il
Wod D 9e'se 3 2 0g
8HOL vl 62'08" . 2 0L )
- esiy el S0'PSh 00'0€L 5 oy
(3uM) Tl 000 = = T
(H1g) 1 00'0- = = o
N 6 16'50€ z . . e
N 8 SLTrll . = 05 ,
MON TR zz'eal- - 3
HHY 5 Zr'Lse 5 g o =
| (N&) | L4 oo'o . . 0
s | € zL'e0k = i loe
rog z £F'S0EG oozes | - gbl - A
dHr 1 9Z'€9Z | l00o'L : 0zl |
au opies [Jeqpu) | jsumen | siespuj
INI Meduy 19Sp0 + 0 oz | % 4
norsbepio JaquiaAou
+opoT-oing smE
zZ + Bupiip 2




